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£(n) = n + 1000
9(n) = vn
h(n) =

n log n
p(n) = (n!)!
q(n) = >0, @
s(n) = ( ")!
r(n) = 28r(n/3) + n? r(0) =5
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n = Wrows
DO = w
fork = lton

let D® = (d*) be anew n x n matrix
fori = 1ton
6 for j = 1ton
k) _ . (k—1) (k—1) (k—1)
7 d,.‘j = min (d].j .d;y + dk,;‘ )
8 return D™
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TABLE-INSERT(T. x)
1 if T.size ==0
2 allocate T.table with 1 slot
3 T.size = 1
4 if T.num == T.size
5 allocate new-table with 2 - T.size slots

§) insert all items in T.table into new-table
7 free T.table

8 T.table = new-table

9 T.size = 2. T.size

10 insert x into T table
11 T.num = T.num + 1
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COMPUTE-PREFIX-FUNCTION (P)

1 m = P.length

2 letz[l..m] be anew array

3 x[l]=0

4 k=0

5 forg =2tom

6 while £k > O and P[k + 1] # P|q]
7 k = m|k]

8 if Plk + 1]==Plq]

9 k=k+1
10 [gq] = k
11 return =
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